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Answer any six from question

numbers 1 to 7. Each carries

three scores. (6 x3=18)

1. Find the sum to n terms of the
sequence 4 + 44 + 444 + ...........

2. Solve:
Sin2x - Sindx + Sin6x=0

3. IfA and B are events such that

3 1
7yt e 5
P( ) L PI:B] 2
P[AﬂB]m%
then find :
a) P(Aurﬁ']

b) P(not A and not B)

4. In a AABC, prove that

b+e 2

Tan [

5. a) The maximum value of the

function f(x)=Sinx is..........
i) 1 11}-\%_% 111}§ iv) 2
b) Prove that,

(Sinx+Cosx)’ =1+Sin2x .
¢) Find the maximum value of
Sinx+Cosx .

6. a) Lim [x]=......
x—2

i) 2 i) 3
10 iv) does not exist

b) Ewaluate :

Lim x% - 4x? + 4%

xr—2 2% 4
K-437
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(2)

(1).

(1)

(1)

(1)

(2)
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1 oymsd 7 cueow)gg eaioayangl
agemelele 6 agepanial pomoaasims.
asanomiimie 3 miaasd allme. (6 x 3 =18)
1. 4+ 44 + 444 + ... agm

eaemilanes n-do alde (UORDISE Mes

DB b
2. wdlnone @oems :

Sin2x - Sindx + Sin6x =0

1 1

3. P(A)=i P(B)=3

P{AHB}=% TR DENE

@veruiecd aper A, B ageldd

a) P(AorB) soems. (1)
b) P(not A and notB) sosme. (2)

4. ABC g  (@lessemanslad

B-C\ b-¢ A
amdialenis.
5. a) f(x)=Sinx agm aerdzend
sl alle
-} B 2 11}? 111_‘12 iv)2 (1)
b) (Sinx +Cﬂsx]2 =1+8in2x
g omglelens:. (1)
¢) Sinx+Cosx o &)Slw alla
BN, (1)
8. a) Lim [x]=..... (1)
x—+2
i) 2 ii) 3
iii) 0 iv) does not exist

Lim % - 4x2 4 4x

L T 2_g ok ale

HOEM . (2)
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fnur scores.

¥ Une card is drawn st racdoom
from a pack of 52 playing carda.
Find the probaiility that,

a} ihe card drawn iz Back, !

b} the caed deawriz 8 fene card. (12

e} bl perd desoers iz 2 bleek face
oA Ll

Aupererer gy @bt Tomm gmestion
mumbers 5 ta 19. Bach carries
{8 =4 = %)

If A={a,b,c}, then write
Power Set P(A).

. a)

{5}

b} If the number of subssts with
torg eledends of a aet Pig 10,
then fing the tetal number of

wlemsrts (i set 2 L&D

o) Find the nvmbesr of elemnsnte
in the powsr et of P, {1y
B, Consider Yean diagram of the
Universel Bet V=11, 28,4, 5, 5,

7,8,9, 10,11, 12, 18}

a) Feite zatz 4, B oie Hosker
forr.

k) Verify (AUSY =4 NE"

!
Y

¢) Find n{ANEY
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LD, Comsider the following graphs @

G mosy sdospriidlenr (Dot

SN i B
Ty
; ll — ’T k4 e
\ | -
TR ALE -
o .
: o ——— — "
=3 N :
1. -i1 ' - £
-: L J \\\«.\_'ﬂ-
& i -‘"\--.
@) (@)
2) Whish grapk doez not 2} mimldienmnuaiel aoss e
repressiat g fnnckisn? Entar EREDUTHAT ng)is? {3}
) Identify ths functisn k) amirialeeyom (020080
Filzd =1 from the sbove Flzl== ogem anedemnon
i X ;
graphs. ol laeyrnes EsraEmd. {10
: c : 2
ey Draw the graph of the o} Flx)=(x=1) agom aosgaad
Faredion Fix) :—{ ;; -;1}2 . (00l CLIMEE]dh, (E)

11, The figure shows the graph of a
fumetion §x] which iz g zemi
rrele perdrad at origia.

¥ o
L

T
i ",

§ %
y 4
o ; L
) ﬁ-}'f-? o i

m) Wit the domain sind rengs

= ‘f# *
1 R =

by Defins the function Fix).
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alimemid {(x) s anednodg
iwoad 200l eSREimw  aa)
aiwane yamnoal el
W i
vy

f. n\

{

!
o —
=4
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12.

13.

14.

15.

16.

1f 8%**2% _ 8n — 9is divisible
by ‘%' for all Re N i3 irue,
ther which one of the
following is & value of '2"?
i} § 16 i) 3

a)

iv)
b} Prove by using the principle
of Mathematical Induction

Pln)=1+3+3%+ ..

2

4+ 81 =

g troe for all
ne N

the
-1 _2x-2 2-x
3 - 4 3]

Jolve inequality

b} Represent the solution on a

number line,

a)
Eﬂqﬂ&ﬂﬂﬁ 3, '5, T, I ] ]

bl Find the sum to 2 terms of

the zeries.
3212 + 522 + T ¥

Find the equation of the arcle
paszing through the points (4, 1)
and {6, 5) and whose cenire 15 on
the line 4x + y =16.

Consider & point A {4, 8, 10} in

space.

a) Pind the diatance of the point
A frem XY-plane,

b} Find the distance of the peint
A from X-axis.

Find the ratio in which the
line segment joining the
point & and B {6, 10, -8} is
divided by YZ-plane.

ol
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(1)
12

{3)

(3)

{1}

Find the »'" term of the

{1)

(3)

(1}

(1}

(2)

12.

13

14,

16.

16

B

a) 3% _gp Q9. neN g
R amoend afltdatie andleasd
S¥laymeseemetd, 'k ages
rfle moae 6&0srmeleam
rutldl agmeoens?

iy 8 1i}6 iii) 3
P[n)l= 1+3+3%+ ...

iv)
b}

el
2
fnficnilend avad aopmaspiaad
0 h goisasolal
tadiauoan agiomi omeliefen s,
Zx -1 . 3x-2 Z2-x

3 ~ 4 5
agrr dBgHies atlancao
ORI,
adlantoe @ty fuohlo sosaldl
mafipfanye

+ 3= =

ne N agrmed

3: Er ?r . v
BLRETiONaS -lonlEo dOemid,.

351% + 6530% 4 Tn3F 4
agrn mildlodlend 7 aeemes
m W

b)

aaio dx +y =16 agom waeel
eye, (4, 1), (6, 5} agiri eullozond
BUHS  dbSN  GrldalM@miBbaw
ayemamiand (e DM,

A {4, B, 10) agmm odansmilee
ey ooyt

a) XY-agioiih aionge 4 opm

el litadnag @Ajdo HoaMid.

b} X epaindmfd ofme A agym

sniimnlleeangn Agbe @M.
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(1}

(1)

(3)

(1)

{1
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eggalied ancdlenynm aweteeiine
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17. a) Which one of the following

sentences is a STATEMENT? (1)
i} 275 is a perfect square.
ii) Mathematics is a difficult
subject.
iii) Answer this question.
iv) Today is a rainy day.
b) Verify by method of
contradiction :
(3)

'J2 is irrational’.

Answer any five from question
numbers 18 to 24. Each carries

siX scores. (5 x 6 =30

18. Consider the quadratic equation

2 +x+1=0.

a) Solve the quadratic equation. (2)

b} Write the polar form of one

of the roots. (2)

¢} If the two roots of the given
quadratic are ¢ and 8 . Show

that a® = . @)

19. The graphical solution of a

system of linear inequalities is
shown in the figure.

4y
4 Ls

II‘\

o
0 X
v L2 \

a) Find the equation of the lines
Loy Loy L.

K-437

(4)

17, a) omidlesym  uoaisemgicd
limacum agmoerm?
i) 275 is a perfect square.
ii) Mathematics is a difficult

subject.

iii) Answer this question.
iv) Today is a rainy day.

b) 'Jg is irrational' agma’
2 0edis ol et o aoamo’

patewduilel aldlawnouwlens.

18 aymmd 24 cuenw)gg saloa)emglod
agemmnlele 5 agepamlol SEMEOODP M .
asanoarimle 6 migmod cllme.
18. x%+x+1=0 agm wemsdo @yl
TacUddEsye aldicoanlee .

a) maonoeyrmiad — atlanice

OB e,
b) aslanoeajeyemisd apemelee
armiedd ea0g0d Gande ag)emids.
¢) mmialaeim  @esle  @)ml
M@UISyTHIOR al®lano
oppem® a,f cooemsld
o’ = B ager emgalens.

19. an @50 emiwod oapeoglg
@B1es (oallend Mol lanmd

afimamiad moyafafleaym,.

&

L
B,

a) L, L,, L; agol cunegies
TODOLDEYETBUY EHOEMjeh.
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(Bx6=30

(2)
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20.

21.

b) Find the
representing the solution

inequalities

region. (2)
a} Which one of the following
has its middle term
independent of x? (1)
10 9
’ 1 . 1
X+— X+~
sied]. s
g 10
1 1
iii) [:1:2+—J iv) [:c2+—]
x X
b) Write the expansion of
4
s 3
-
[ x] (2)
¢) Determine whether the
p 18
expansion of [I _;,j will
contain a term containing
10, (3)
The figure shows an ellipse
2 2
g-g+%=1 and a line L.
Y
X
a) Find the eccentricity a:;d
focus of the ellipse. (2)

b) Find the equation of the line
L. (2)
¢) Find the equation of the line
parallel to line L and passing

through any one of the foci.  (2)

K-437

20.

21.
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b) emeoryjasidd diglemlag
8D eflmiaod

DBDEFI D @06mds.

a) momiclesmaueid x g oom
flBo MUY IBEIEE apalimosni?

p 10 g
1] [I*P-i-] ii} [:r+i}
g9 10
iii) [f +%] iv) [xﬂ +ﬂ

4
3
b) {x2+-;] o cflayefaname

(2)

(1)

) F 1.

18
g%
i

aflasjelenmemomiad 19 cumym
HaeMRo ag)
rlmlgrmneiflansa {3}

(2)

ngymal e

ad20

x+’ ?ﬁ-
allimomlad — +=— =1
L 25 9 0g)m

ageflafouie L agom  cuemye
mrrilaleagmmy.

MY

a) agaafmiled ogqidEialgl,

SnOdBaNTY agOTia @oemjds. (2)

b) L agm cuowies auaniose
OB, (2)

¢) L agon aewies mesmoniie
aemEslage  Gandeemlenes
EHSONY SoIDSHIMMBOW CUWOS
M@OUDELYO 06,

(2)
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22. a) Find the derivaiive of 98 8) y=Fax of sacsodind
y=5inx from the first apingy talidodlyel gelamooiigl
prineiple. (%5 T

; L - 4 a
ey " — Togx e 2 — Doasx dy
H S _LEEELY 3 I —m— "3)’[1 o, B P
by Find o if ¥ Eing i by ¥ Bine Bip @ D T
R

23. a) Find s, if TR a) 12u{n-1)F =Bx{n+l1f

19x(n-1)P = Sx {nel}l (2} WD . MO,
RO oo 840 BT =3 -
b} 1If ?IPr= glﬁnﬁ .qu:ar = 35 ﬁﬂd 3 {]13 b} &= g‘%‘u‘, Lep = 35 CERIRATY ¢
Mﬂaﬂh
¢) English alghabet has 5 2} oyl  @mssvadeiwi®  §
vowels and 21 consonanis. aueudiige 21 earbamssmey
How many 4 letier words e PN  SWEIBYOS
with two different vowels znd EUBEHEIRIED fenE QYTID
two different consonants can MBS e QYT @
be formed without repetition assdamosmenio gnicwouflaf 4
of letters? {3} WHBHOBUIL i@ CUIADHR
PERONEHI SWltin?
24. Comsider the following dais : Fd, onues n&5awelenim ogle
NS,
Class 1020 | 2030 | G040 | 4bs9 | sogo |
Frequensy G 18 13 7 2
a) Caleulate the mean of the ) QUNGRNES NG duATEEN S,
distribution. {21
b) Find ihe standard desnation B) anopayes ot an b
of the distributicn. (3} ouficfeamand 0oy,
¢} Find the seefficient of £} avogamas sedafedlayl B8oad
variation of the distribution. {2 arudkswast® EORE.
K-437
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